State the degree and leading coefficient of each. State the degree and leading coefficient of each.
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6. The degree of a polynomial is

The largest exponent when written in expanded form.
Only the first exponent when written in Standard Form For each of the following polynomials state if the:

Degree is EVEN or ODD

and
What will be important Leading Coefficient is POS or NEG
for Ch 6 is whether the
degree of a polynomial
is EVEN or ODD
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3.y = —3x2(5x - 6)3(2 - x)2(7 —4x)(8 - 3x)3 You can now finish Hwk #23 Sec 6-1
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